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3 [ TVUNLERTTF L 944 944
4 | TIVNVEER O DK 46 0.26 47
5 |[TIUNER2— (PAFATI/) F )L 944 944
6 | T/ULEE2—tRoX L Tl 0.32 0.32
T \TIINERI NN —TFIL 25 0.061 25
8 | TUUNEEAT L 0.091 944 944
9 |77Va=Rp)v 546 546
10 [77aLA 221 1,762 7,936 111 3,510 83 298 13,921
11 |7V Ry A 0.41 0.41
12 |[7&bTATER 0.012 1,032] 9,689 51,519 624 14,754 5,119 398 1,058 0.002 84,193
13 [ 7&h=RL 346 330 676
14 [ 7®b T JER)S
15 [ 7®F75
16 |2, 2" —T7YEALYTFr= )L
17 [ Anb=T=vvv
18 7=V 0.29 0.34 0.64
19 [1=73/—9,10—7h5% /v
20 [2—T3)xH)—)v 485 79,541 79,700 159,726
21 [7ayEyy
22 [747B=)L 617 128 745
23 [R5 —T3I)Tx)—)L
24 |\ A —=TI)Tx/)—)V
25 [ ANT VY 96 96
26 [3—73I)—1—7 a2
21 | AZ3pp
28 |TUNLTILa—)L
29 [1—TULAHY—2, 3—xRFL Ty 8.0 8.0
T VR NP AR R ED
30 i (TN EEDRFHLN 107 H14FETD 2,423 3,087 294 251,911 100,444 358,158
HOROZDREGWIZIRD, )
31 [T F LR OEDILEY 28 1.2 172 201
32 [ 7U bk
33 |4
g4 |3TAVITFRAFNA =3, 5, 5-FIAF
i) =AJT T F—h
35 AT FNTILTER
36 (/T 15,355 15,355
37 [EAT7=/—/LA 11 7.1 18
2,2 —{4y7ae)F U eR[(2, 6-V7
38 |BE—4, 1 —Tz=L)AFU] Vs
J—=Iv
39 |7 IKA
40 7= F—h 700 700
41 [T =L 1,529 1,529
42 [2— XV F AL 0.52 0.52
43 | A8V
14 (AT LRTZEDIEY 0.0003 0.0003
45 | =X TFF—)L
46 [FHuky 7 TF L 273 273
47 [T HIRA 172 172
48 |[EPN
49 [ NUF ARV 3,578 3,578
50 [EYF—h 96 96
51 |2—ZF NFHh R
52 |[7I=NT 640 640
53 [TFA~LEL 149,366 25,194 353 376,801 1,616 94,423 7,116] 2,818 6,797 99 115 664,699
54 |[RAFTE—h 873 873
55 |ZF LA
56 | TFLLAFUR 452 354 806
57 |=FL o7 )a—NE/)TF)LT—T )V 1,735 36 0.49 1,772
58 |TF LT Va—)LE /AT /L T—T ) 81 0.29 81
59 |TFLLITIL 0.082 0.005 0.087
60 |[TFL U7 I IUFERE 18 782 289 1,089
61 |[~ox7 275 275
62 v ats 42,265 42,265
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81 % /U 0.00003 0.00003
82 [$RE OEDKIEHELEY 8.5 49 57
83 [rA~ 1,315 12 1,822 2.0 3,151
84 | ZVAFH—L
85 | JNWHANT VT ER 19 0.21 19
86 (/LY —)L 0.012 217 0.007 217
87 | 7uiRk =AMz sba 2.4 28 6.5 127 164
88 | Afliznsfbéty 2.1 227 229
89 |zmumpr=y»
90 |ThIvv
91 [>T Vv 1,092 1,092
92 M7= ETR 675 675
93 | ATrE—)
94 [Hifke =1 2.4 2.4
95 [ ILTTF A 1,100 1,100
96 [Tz /af—L 210 210
97 |1—rmu—2— (ZraAF L) L
98 | /mnfERg
99 |/ F /L
100 [ FLFF7u— 2,703 2,703
101 [757a—1 8,988 8,988
102 [1—7man—2, 4—y=pa~E~
103 [HCFC—142b 11,523 11,523
104 [HCFC—22 244,570 244,570
105 [HCFC—124
106 [HCFC—133
107 [CFC—13
108 A=y 2,171 2,171
109 [ ANVh—rmaplay
110 |(/NF—znuplxz
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112 |2—Zmp=fa~_ ¥
113 o= 144 144
14 A5 )77 77 77
115 | 7= hIHIR 1,964 1,964
116 [~ FTVIA 50 50
17 [F7a)ry—n 1,645 20 1,665
118 |3/ur74=)L 91 91
119 [Zxv7ary/—n 154 154
120 [AVb—Zvun7e/—)L
121 ST —randx)—)
122 [2—Zunruc @
123 k7Y
124 |73
125 [zama~u B 210 1,176 12 1,398
126 [CFC—115 182 182
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170 | Tho=a)/ —u 12 12
171 |[Fvtaty—u 307 388
172 | AFH v rarme 527 527
173 [evoruyyy
174 [V==amy 4,480 4,480
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194 |F¥m
195 | 7aFA47kA 1,804 1,804
196 [ AF X F AL
197 |~5/v 11,048 11,048
198 [PAP=—}
199 [CIZ VAL At 1260
200 |[Y=hahlLx>
201 |2, 4—V=ha7=/)—)V
202 | VE =R
203 | V7 == T
204 | VT x=)—T )L
205 |1, 3— V7= AT T =V
206 | HNVARANLT 7 84 84
207 |20% Ay =TI AT 6.7 143 78 0.18 228
208 |2, 4=V —H— ¥ V—TFNTx/)—)L
209 |7 uEIORAY 789 787 1,576
210 |2, 2— Y7 aE—2— 37 )7 LT3R
211 |/"ar—2402
212 |[7E7=—F 10,639 10,639
213 [N, N—PAF LT ®7IR 317 63 2.0 382
214 [2, 4—TAFAT =Y
215 |2, 6—CAFAT =V
216 [N, N—IAF LT =Y 0.020 0.020
217 |[FAL o5 850 850
218 [UAFAT IV 11 0.63 12
219 |[VAF N AT 4R
220 [PAFNTF A TN S BED KIEES
221 [~L TGN T 327 327
222 | T =) FAINT
223 [N, N=VAFARF AT
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225 |R)ZmLiky 1,150 14 1,164
226 |1, 1=V AF)LERTVV
227 [~"Fa—h 1,305 1,305
998 |3 3 —UAFAET = —4, 4 =T

N=TAVT R—b
229 |FAT 7 R—bAF IV 22,103 22,103
230 N—(1, 3=V AF LT FL) =N =7 ==
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231 [A/Nb—R)P
232 [N, N— PAF AN LT IR 38,706 38,706
233 [Zxpm—p 2,596 2,596
234 |BL3% 0.065 0.065
235 | BLEREO KAV 0.0001 0.0001
236 | TAAFT =L 3,360 3,360
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238 |KFTNT ==L
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243 | AA % 1,193 1,193
244 | X Ak 81,204 81,204
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246 |FAT=/)—)L
247 |57k
248 | ATV ) 9,305 12 9,317
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256 |7 1R 10 10
257 | TH)—IV 133]  0.044 133
258 |~FHFAFLLTETII 0.083 1,428 8.0 1,436
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260 |ZunXu=jL 5,369 5,369
261 |7HIAK 2,485 2,485
262 |FhZrnnTFL 4,723 10 4,733
263 |CFC—112
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v
265 |7 hIER AT VHEK T 2V
266 |77 /LRY 172 172
267 | FATINLT 849 849
268 |F T4 1.4 5,740 5,741
269 | (Y7 4h—)V
270 | FLTHLVER
271 |[TLIHNVERY AF )V
272 | $KEETER (B AR, ) 1.3 36 29 43 109
273 | V=L —RTF YT a— L 0.38 48 48
274 (= XV—RT A FA—)
275 |RF I VHiEET N D A 318 147 0.33 62,889 26,927 90,281
276 |ThITFL o4
277 [N=F LTI 321 770 1,091
278 [N x=FL T3 13 29 42
279 |1, 1, 1—RN)ruanxs
280 |1, 1, 2—h)yooxg
281 |F/mnxFLo 6,599 4.5 6,603
282 | M)/ oufEg 1.7 1.9 3.5
283 |2, 4, 6—h)Zou—1, 3, 5—hT7I
284 |CFC—113
285 |yuntE sy 83,092 83,092
286 |h)rmE L 756 756
287 (2,4, 6—hK)raur=z/—L
288 |CFC—11 29,645 29,645
289 |1, 2, 3—hZuorso/sv
290 |RyZmm~_E

1, 3, 5—hMA(2, 3—x=RFT7atL)
291 | —1, 3, 5—K7Yr—2, 4, 6(1H, 3H,

5H) —hAY
292 |N7FLTI
293 [NZ7AF) 3,149 3,149
294 |2, 4, 6—NTHETx/)—)L
295 13, 5, 5—RNIAF L —1—~FH /—/L
296 |1, 2, 4— RUAF L~ P 45,471 968 1,048 1,220 60,810 863 27 110,407
297 |1, 3, 5—RNIAF LB 18,805 736 419 71,954 1,705 35,115 2,593 3,018 2,019 15 136,379
298 ML AV T %—h 7.0 7.0
299 [MLAvY
300 |hba 329,719 55 7.3] 21,936] 406,781 15,375] 3,378 692,509 29,830| 17,846| 23,438 298| 541 875 1,542,588
301 |[pL=o YTy
302 |[F7HL 3,403 1,379 1.7 4,955 941 29 10,708
303 (1, 5—FFHLLPAN=UAIL T X —h
304 |4h 0.11 0.11
305 [$nikAd 17 1,050 31 52 112 1,263
306 | T ZUNEEANFHFAFL Y 0.38 0.38
307 | HfbER{bY v a=r L
308 |=v4 v 0.002 0.010 0.012
309 |=vr M LE 2.9 6.4 2,313 46 2,368
310 |=hVu = FEmE
311 [ANh—=baT7=Y—/L
312 [ANbh—=fr7 =)
313 [=hasUky
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330 | et 1.5 1.5
331 | HAPHRA 201 201
332 it R O O LG Y 0.000006 13[0.000002 13 26
333 [ERTo 4.2 427 431
334 |4—bRaX 2 BFMAT L
335 IN— (A—ERO¥y7==/L) 77 IR
336 [ERmx /v 5.8 7.4 13
337 [A—bE =)L —1—L/a~Ftr
338 [2—E=LEYT
339 IN—E=/L—2—FnrlJR
340 [E7==/L
341 BTGV 1,750 1,750
342 LYY 1.6 0.88 2.5
343 [ hFa—L
344 | == VA FTT
345 |7 x=)LER TV
346 |2— T x=)VTx/)—)L
347  IN—7z=)L<LA3F
348 | T7==L YT
349 |7 /—)L 93 0.29 52 145
350 |~ILARY 516 282 798
351 |1, 3—74Vx 638 2,064 24,271 882 3,818 5,244 398| 1,439 38,754
352 | ZHNEEST YL
353 | THNES T )L 4.0 4.0
354 [ TANEEY — V= —T FIL 12 15 912 939
355 | 7HVEEE R (2— TF )L~F L) 179 48 227
356 | ZHNVEE/ Vv — T FIL =P 0.56 0.56
357 |7 u7=Vy 3,373 3,373
358 [T 772/ 371 371
359 //Iz?/tfj'%/vfz, 3—TARFT T ar

JLT—T )L
360 |~/31 2,815 2,815
361 |2 miky ST FL 1,114 1,114
362 |OT7 7= F 550 550
363 [ AXHIOTV 752 752
364 |7 EBFUA—] 148 148
365 |BHA
366 |#— ) — 7 F L =bRo~ULAFI R
367 | ANL—EIHV—TFNT =)=V
368 [4—H—Lx¥)—TF)NTx)—)L
369 |7/ LF b 57 57
370 [EUF A~ 525 525
371 |77 7= BN 80 80
379 |N—(F—3AV =T FN) —2— LV FT

S = VANT =TI
373 2—H—1x) =T F)—5—AF )T =

J—)v
374 | S Atk FE R OZ DK 1,920 16,768 5,112 23,800
375 |2—TTF—)L
376 |74 ru—)L 1,155 1,155
377 [75
378 | TuExs 3,150 3,150
379 [2— 7o —1—4—/L
380 |/~mr—1211
381 |7 OEY/OBAN 1,651 558 2,209
382 |, —1301 75 75
383 | 7L 1,539 1,539
384 |1—7mES IS 7,388 0.41 7,388
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385 [2— T mET R
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387 BT =2 T HAX
388 |TmURANLT 7
389 ;\\\\#ﬂ'?“//lxl\U;“)"/IzT‘/-‘E:?A=7UU 15 1,072 452 1510
390 ~XYAFLLUT
391 | ~FYAT LY = AV F—h 0.32 0.32
302 Il —~F 91,205 4,759 7.038 149,406 1,980 117 257,506
393 | NHF TR/
394 ~UVYLROZDILEH 19 19
395 | ~LAY RO KESPEIR 5.0 5.0
396 PFOS
397 [~ =hR)ra)R
398 H{b~o UL
399 U AT LTER 0.001 367 9,288 557 1,931 21 99 0.020 12,663
100~y 5.786 13 12871 1.686] 168.705  9.155| 18.123  10.804] 398 1,519 2.9 229,061
401 | L 2, A= RNUECNIAR L, 2— 1%

K4
102 A7=T Tk 1,748 1,748
103 |~ T2 0.005 0.007 0.012
104 | R BTERT = )L
105 1BHRILAD 240 196 i1 2.2 314,064 34544
106 PCB

RY (¥ =FLr) =T ¥z —T)L
107 | (FARLEOBFHN 1205155 TOB 4733 13,613 95 733,153 39,402 790,997

DR OZDRAWZIRS., )
108 f%ifi’l?vﬂfﬁ7?”7l”” 47) 2,660 8.8 397 10 3,152

R (AL 2FLy) =R Forxz—TL
409 e 13 20,744 99,608 33,475 153,961
110 ;{%ZL*/I?V/)*/"’WL‘”I* 3,107 8,661 108 2,464 324 14,664
411 VAT ATER 2,623 879 3.857 2,536, 109,178 1,897 66978 15,416 1,193 721 1,250 1,229 207,762
12~ T ROZDI A 0.95 32 7.1 9.5 50
413 KT XV
A14 K<L AR 0.039 0.039
415 | AXTV LR 96 1.8 97
416 | AXZVIVEE2 — TF )L ~F L
417 [AZVYNVEE2, 3—TARFL T aE )L
118 AZIU L2 — (DAF AT =TI 0.069 0.093 0.16
419 | ABTYVEE )~V —T F )L
420 | AH Y LERAT L 1,010 529 12 1.551
421 [A—AFVF o AFEH —2—F v
122 T=VAS Y 1,105 1,105
423 AFATI 0.001 0.001
124 AF L= AIFA LT H—F 700 700
425 AT a7
126 IAAKTT
427 AL 1,785 553 2,338
128 T2 TANT 339 247 586
129 NEALTEUATIL 253 253
130 A FXF LT 15 15
131 |7/ % L ANREY 1,816 1,816
132 7R 500 500
133 — A 950 950
134 AF L
135 | EUS /S oI AT 35 35
436 |[TNT 7 —AFNAF L
437 |3—AFNF AT —)v
138 AFATFTHLL 35 2.602 15 0.002 2.638
439 |3—AF NV

1—AF )N —1—Tz=/L=F )L =bRa~
a10 )T 0.003 6.1 6.1
2= (U= AFATEEL) —4, 6-Y=}n

Tx/)—)V
142 ATa= 60 60
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